
Exam 2 Version 1 Name
Math 131-01 Calculus I October 10, 2018

Guidelines

• Calculators are not allowed.
• Read the questions carefully. You have 50 minutes; use your time wisely.

• You may leave your answers in symbolic form, like
√
3 or ln(2), unless they simplify

further like
√
9 = 3 or cos(3π/4) = −

√
2/2.

• Put a box around your final answers when relevant.

• Show all steps in your solutions and make your reasoning clear. Answers with no
explanation will not receive full credit, even when correct.

• Use the space provided. If necessary, write - See other Side - and continue working on
the back of the same page.

1. (8 points) To be completed once exams are graded and returned. Please correct any
problem with points deducted. All corrections should be completed neatly on a sep-
arate sheet of paper. Once you have finished your corrections, take your exam and
corrections to the Office of Student Learning (OSL), and a tutor will check your an-
swers and sign below. The checked solutions should be given to your instructor.

Signature:
Print Name:
Date:



Question Points Score

1 8

2 26

3 6

4 6

5 6

6 8

7 8

8 12

9 10

10 10

Total: 100
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2. Find dy
dx for each of the following: (Do not simplify)

a. (2 points) y = x3 − 3(x2 + π2)

a.
b. (2 points) y = ln 5

b.
c. (2 points) y = e2x+3

c.
d. (2 points) y =

!
x2 + 3x

d.
e. (2 points) y = tan(πx)

e.
f. (2 points) y = sin(7x)

f.
g. (2 points) y = 2x

2

g.

h. (2 points) y =
1

7x2 + 3x

h.
i. (2 points) y = log2(4x)

i.
j. (2 points) y = arcsin

√
x

j.
k. (2 points) y = cos3(1− 3x)

k.
l. (2 points) y = arctan(9x)

l.
m. (2 points) y = ln(x5/2 − 3)

m.

3. (6 points) Find dy/dx for y = x2 sin2(2x2)

UN"^dax( up ) =p up - tou '

- .  -

=X3 - 3×2+31-12 y
's 3×2 - Lex

y
'

= O

Hell ) -
- EU . u

'

y
'

= e
2×+3

, 2

y=u4z y '=Iu-
"

2.
u

'

y
'

=L ( x 't -3×5%(2×+3)

y -
- tanu d-fxsse.eu . at y

'
'

- SEE ( TX ) • IT .

y
'

-
- u

'
. cos u . y

'

= 7 Cos ( Fx )

=eUlnb=eUln2#Ey'=e×kn2
. @xenz )

= ( 7×2+3×5
'

-117×2+3×52 (14×+3)
= dn4x

Lena )
'

-

- Lu . u
' enz-etnz.eu#y'=etTn . . 4

ddzanes.mu - 1¥ . u
'

¥× . £543
.

= us
a- cos Ll - 3×7 Y' =3 cos 'Ll - 3x)( - sin ( I - 3x ) . C-3 ))

w =/ - 3X

u
'

.

I 90 ¥9512
Itu

x¥zJ  o 52×3/2

d£u=dzx(x4sin4zx) tx2.dz ( sin
' (2×4)

= 2x sin
' (2×2) t x

'

( Isin 12×2 ) . cos ( 2x
' )o4x )



4. (6 points) Find dy/dx for y =
13x

(2
√
x+ 2)2

5. (6 points) Find dy/dx for y = 3x+
9

x
using the definition of derivative.

6. (8 points) Find dy/dx for x3 + 4xy − 3y4/3 = 2x.

7. (8 points) Find dy/dx for y =
!
1 + 3x2

"6x.
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8. Given the position function, s = f(t), where 0 ≤ t ≤ 10, seen below, answer the following
questions:

a. (3 points) lim
h→0

f(6 + h)− f(6)

h

a.

b. (3 points) Where is
ds

dt
= 0?

b.
c. (3 points) Where is f ′(t) > 0?

c.
d. (3 points) Where is f ′(t) undefined?

d.

9. (10 points) Find an equation of the line tangent to the curve y = tanx at x = −π/4.

10. (10 points) The length ℓ of a rectangle is decreasing at a rate of 2 cm/sec while the
width w is increasing at a rate of 2 cm/sec. When ℓ = 12 cm and w = 5 cm, find the rate
of change of the length of the diagonals of the rectangle.
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